lp

A=ax(1.00+E +E,+E,+E,)xE;xE;xE, xT (m*/p) (| #2 =e 7

ai
E
E: :
Es :
Ed :
Es :
Es :
Er -

-3 g 1 - 2 &t B

Ahin

ARFHN) T ET P

lpadaaf (m/h)

AR TE AR 4 M T

B R %A AT Gk

BEBB LN AT R

HLFER %R AT TRk

PHFTEE T Ao T

RIFE T A e A TR

PR R A4 Gk

T: #k21picEpFErF(6.0h/P)

»)

9. W4 ik
PEE T L S ) A i Bir
Bl aman Bk 0. 00
B oh kg ~0. 05
L % 0.00 | %R ImAmiLs 2
A 7% ~0. 10
R % 0.00 |22 %%To4E 200n 1
A g 0.05 |2 0 ARE A
. 1. 0m % % 0. 00
Es 1.0~1.5m &% -0.10 BLFRE SRR EBTELF
A 1.5~2.0m % ~0.30
—— PEE 100 | 2 8mim - insisez a2
Es W 0. 90 L TR A o
A 7 4 0. 80
10m % 3% 0.87
10~15m % 7% 0. 70
B | Ki®® A | 15~20m %38 0. 78 | T i e (ML )4 T 35




920~25m A i% 0. 72
95~30m A i% 0.57
b | TEERE 5km & % 100|417 3 7 fLE T I T
owa 5~10km % ;% 0.85 |~ o
10~15km & i% 0. 60
oo 3.0knot M pEE YRR o
GlcE A A
R A S S AT S
15m A % ¥ 4k N
B | kig® A nrm | T AKC
15~30m A% | BEA Bk ()
2. WP %
Bokadn 1p(C m)
WP
L4 2y < W [ e [gc| A
e | ok |k
Dk % 45384 | DIBOPS 4] 3~5 7/ | P 1 - 37+ 8H
@k % 4y i@ | DIBOPS 4] 3~5 7/ | P - 1 37+ 8H
K F R ek 5 20 7] p 1 FED
i % 3 P
Wl ATk AGH I EYETE
2. kTHRIS L PITET - B 1 pIET x a(r i)
3. FIRMHERLE TR NP TR TE
LR R Rk TR -

7= g N I A



file:///C:/HarborAssessment.html

